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faf@/Dale: 30.07.2023
wafOF 3iF/Maximum Marks : 80 F#/Time. 90 A=/ 90 minules
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3= F R g /Instructions to the Candidates

Mqamaayﬁm#mﬁmwmmmarmw mmﬁamxm

You have been called for the written test based on the online data fumished by you in the web application.
If you have wrongly entered in_the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. WA-0, 80 WAt & I A-g¥aH F FU A I alww Hr yaftr 90 Bewe ¥

The Question paper is in the form of Question Bookiet with 80 questions and the duration of the lest is
90 minutes.

3. IR RFeqt afga axafes vHR & o g fad & b e iRy w7 @ wd @
The questions will be objective type with four options out of which only one will be unambiguously comect.

4. 9AF 939 FAT 01 3% g 3R 93F 199 3ok & RAT 033 37F FweT 70T
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.

FUAT g8 TS SWP.T.0.
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5 gt & 3ot 32 & Ruads ARRe ofa v mmmmigﬁwfrml
A separale OMR answer sheel with carbon coaled copy will be provided to mark the answer oplions.
6. M) MeraTe Tl & afe T O A HUANR IeT. iR A AT Haw B AT B qg

el 1 9qA H6 B

You have 1o select the right answer by marking the comresponding oval on the OMR answer sheel by
blue/biack ball point pen.

7. U N & T 3o Ieat &1 W ATed Il A S|
Multiple answers for a question will be regarded as wrong answer,

inled on the right lo should be writlen in the OMR answer sheet in the

9, STA-GFCTT 3 ST A U AT T o |
Enter your Name and Roll Number comectly in the queslion booklet.

10, mmmm-gﬁ;m#mﬁwﬁﬁmmmm*ﬁm#ﬁﬁmmm
All entries in the OMR answer sheet should be with blue/black ball point pen only.

11, e g 3 Forferen o SutRuta 31 & e gie-Rewe T gramr T afgv
You should sign the hall licket only in the presence of the Invigilator in the examinalion hall.

m etc., will not be allowed inside the wnﬂen test hal
13.1&§ntru'rz‘lﬂq1 mmmmqﬁ!amﬁmtj_ﬂﬁﬁﬂtﬂﬁ_&ﬂlw

Cn omngietnn of the les!, tear the OMR answer sheel along the perforation mark at the top and hand over
' invigilator and retain the duplicate ith you.

14, rot-qfRee et 0w o W@ FFA £
The question booklet can be retained by the candidales.

15. Qe 3 W B & SR At i odien gie BieR Y HeAfa A g
Candidates are not penmitted lo leave the examinalion hall during the first hour of the examination.

2 1480

@ Teachingninja.in



TR IR 4 AAUEDAMELT AL A

THATH! HEras
LLOECo / Technical Assistant (Mechanical)

%EL! a;'mﬁmﬁmmW,ﬁmmaﬁf,mﬂﬁlmqﬁ

If the mean radius of rim t ; )
original flywheel at the same i::E:IIWhE"' is halved, its stored energy 1s

sl (b) 1/2
() 3T/ 2 times (d) &9 /same

of the

mﬁ#mﬁﬁﬁhmﬁwwmﬂmt?

Which one of the following welding techniques require vacuum environment?
(a) wo=EfRT 3fe ultrasonic welding

(b) R LT / lager welding

(c) TSI H?IT&‘I afes / plasma arc welding

(d) TR YHEW RSN / electron beam welding

ﬁqﬁ'ﬂﬁﬁﬁﬂﬁ;ﬂﬂﬂﬁ,mq{:ﬁmmm%?

Which of the following beam has zero bending moment at the support?

(a) HRfTET 9 / cantilever beam

(b) e @ gEw R mn i g simply supported beam
() g 99 / fixed beam

(d) fewmn mm i / propped beam

2 m/s % A F At 98E, 0.05 m Ft B w1 IRy, T A AT 1000 kg/m? R 3 1x10°m? /s

%1 genfos faufauee # fov Hics wen w0 27

What is the Reynolds number for a fluid flow with a velocity of 2 m/s, a pipe radius of 0.05 m,
fluid density of 1000 kg/m® and a kinematic viscosity of 1x10°m?* /s?
(b) 2000

(a) 200
(d) 2,00,000

(c) 20,000
K, 3t K, stewa $1, o 3 b sl & 6 Bifm w9 R wm dem s sgye wr 8 R -
I I B

The conductivity of a composite slab made of material @ and b having conductivity K, and K,

with equal thickness and cross-sectional area is

®) KK,

[a} Ka 63 Hb
@ 2K.K,IK, +K,)

(c) (Ka + Kb)fKaKb
1480
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ﬁ@ﬁﬁﬁﬂ#ﬁznmmmmaﬂnInmm#w%m%m:ﬁﬁﬂﬁgﬂﬂmm,mw
ﬂ;,iﬂmzﬂmmﬁ?ﬂﬂfﬂﬂwa‘

The ratio of polar momen

for a hollow shaft of outer diameter 20 mm and inp
terial is o

t of inertia
diameter of the same ma

d shaft of 20 mm

diameter of 10 mm to a goli
(a) 1/16 (b) 15/16
(e) 1 ) 05
ﬁﬁﬂﬁﬂ(.ﬁmﬂm lﬁmmi.aﬂﬁiﬂiﬂi"ﬁﬂﬁ 18me:nﬂ,mmmmﬁq
mﬂ:ﬂaﬁmmamt.ﬂ’f maﬁﬁ?ﬁaﬁlﬂfﬁtm
minium material by using end mill cutter of diameter 15 mm at a cutting

While milling of alu
speed of 180 m/min, the speed of the spindle in rps i8 approximately
(b) 1920

(a) 63

(c) 3822 d 32

agr wEa fam g, mﬂﬁﬁﬁmmﬂﬂﬁﬂﬁmm%?

What is the percentage of Carbon at the Eutectic point in [ron Carbon diagram?
(b) 3.40

(a) 2.46

@ 4.30 (@ 3.04
@ T ¥ yenfs fafge F S # 27

What is dimension of kinematic viscosity of a fluid?

(a) LT* O
@ ML'T @ ML'T*

m%m%%ﬂ#ﬁﬁ&aﬁuﬁmqﬁ%?

central core for producing pipe?

ﬁmﬁﬁﬂﬂﬁﬁaﬁ?@ﬁmm%ﬁﬂ,

Which of the following casting processes do not require
(a) e gems wishar / sand casting process

b) e ufikan / die casting process

(0 FTHH GO gfian / centrifugal casting process

@ framgemd ufial / investment casting process
2/ frnfem HTH T S

Mmﬂm#mﬂﬁﬁaﬁ,qﬁmimmﬁmwaﬁ

2
‘I}‘:ensile strength of a material is obtained by dividing the maximum load during
the

(a) e F W R &4 / area at the time of fracture

the test by

(b) wier IIEY-FIE & / original cross-sectional area
(c) (a) 3 (b) F1 36 / average of (a) and (b)

(d) et & @G = Rhk &3 / minimum area after fracture
1480
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! b
(A
12. AR dQ/T >0 F whia 3l i 3 w5 2
If cyclic integral of dQ /T > 0, the cycle s

3l
(a) /e form 1w 2/ reversible (b) 3eer/amm Rem 7 S ®FAT / irreversible

() 31WW9 /impossible (d) 39U § A F1E T8 / none of the above
13. T %1 & ad 3
Hooke'’s law holds good up to
(a) ‘RT”I:;E / yield point (b)  wWIFTAA @ / limit of proportionality
© ﬁg @ / breaking point (d) ofieigT ) @i @ / elastic limit

14. ¥ & fraeh s 78 22

Which of the following has no unit?

(a) g(anﬁ‘ﬁa feufuTee / kinematic viscosity (b) el @9a/<aTd / surface tension
() FUHNH / bulk modulus (d) @a/faEmE / strain

FHIH 1= 0.5 % A & IV wefloten 61 39 o, Al Fied ) Rl ) G0 R e, o

15.
SUH ST 1A I9O A F I
Using the Taylor's tool life equation with exponent n = 0.5. if the cutting speed is doubled, the
ratio of original tool life to new tool life is
(@ 2 ®) 4
(@ 1 (d 056
16. TH 360 mm 9 FI 5T (@) T I F1 A 10 m/le B1 TEY F = 900 m R1 AR /= 0.009 W

g =10m/s* & @t wdw & www Wex # orft 1 ¥z @i faaw &7
The velocity of water in a pipe of 360 mm diameter is 10 m/s. The length of the pipe is 900 m.
What is the head loss due to friction in terms of meters of water if f= 0.009 and g = 10m / s*?

(b) 900 m 9t / 900 m of water

(a) 450 m 91 / 450 m of water
(d) 225 m 9t / 225 m of water

() 112.5m9Hl/112.5 m of water

17. WA degaiy R 6 7 701 87

What is the unit of Stefan Boltzman constant?
W

W
) mhk? ® m*k?
(c) “::!2 (d) IMEMEH / dimensionless

forsrya: Aegtiien & frarelt &1 Tories Ean R

18.
Typically, the coefficient of discharge of a venturimeter lies between
(a) 0.759 0.80 % &9 /0.75 to 0.80 (b) 0.81% 0.85 % &= /0.81 to 0.85
(¢) 0.86¥ 0.90 % &= /0.86 to 0.90 d 0958 1% d=/095t01

E 5 1480
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g'ﬂraﬁﬁmﬁmﬂmi,ﬁyﬁmﬁ@ﬁm%hn \

and T is the maximum tension in the belt, for may,,
Um

19, afe py dee A ;&'!qu/‘sﬂ;fg Sl
T Fan 2
engl‘.]l of belt

If m is the mass/unit l :
power transmission, velocity of the belt 18

(a) J(T/m) (b) JT/ 4m)
() J(T/2m) ) (T 13m)

90, IqHN F MaEAEAd —
The life of an equipment will be shortened in the case of

(a) wRrergEs W@ / Predictive maintenance

(b) frams @@EE / Preventive mainten
(@ fafwa T@@e / Reactive maintenance
(d) Frewu @@ / Diagnostic maintenance

mﬁmmwtwigmﬁiﬁﬁgamuﬁ N, % shaf
3t &) wE 8

pring subjected to compressive force and if the

ance

21. ﬁyﬂmmﬁﬁﬂ.ﬁw
mﬂsmﬁaﬁmﬁwmnﬂmm,fﬁmgm

If N, is the total number of coils in a helical
ground, then the nu mber of active turns is

ends are squared and
@ N OREAS
(@ N, -2 (@ N, -1
22. ﬁmﬁiﬁﬁﬁmmﬂsmmﬁ 30 =l ¥| R =R (me) uRke d 16 < &, @ gd dewd
gfa gl
Annular wheel of an epicyclic gear train has 80 teeth. If the planet wheel has 16 teeth, the sun
wheel has teeth. '
(a) 24 ®) 72
(c) 64 (d 48
2x
23.
Ixa + ldx L
; 2x
F
ind I = dx
-1
+C (b) tanx+C

(a) P

) log(x*+1)+C
(d) log(tan'zx)+C

1480
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25.

26.

27.

28.

time (s) ' . l tee®)

velocity (m/a)

(©)

(d)

)
velocity (mfa)
-

time (s)

writerT % e # v ww ¥ i dred A w0 e 3

Ability of a material to absorb enerev i i i
rgy in the elastic range is known as
(a) oA / resilience e

(b) B / stiffness
(c) eI / plasticity (d) WG / hardness

T W UTgE R @ (2 m e sl g m =) fm i A ki m R, mw
90 Nm %1 fotiet €37 o man 21 g & Gl # srawes =pam @ &0 22

The resistant torque of 90 Nm is offered by a heavy metallic container door (2 m width and

3 m height) with hinges provided along the height. What is the minimum force required to
open the door?

(@) 30N () 90N
© 45N @ 15N

T FE F w0 Il v g 9 B Sam #, @ 9 A A

If a material expands freely due to heating it will develop
(a) S T / thermal stress (b) T4 TEME / tensile stress

(c) ®vfied 91 / compressive stress (d) <T@ WG / no stress
A m gl % o afFam s, smafE g

The buckling load for a given material depends on

(a) YA T ST, 331 1 ATHTH A FIIEA-FR F1 &3 / slenderness ratio, modulus of
rigidity and area of cross-section

(b) WIEEER W IUE, FIWEU-FR F §3 3N FHHF F 79 / Poisson’s ratio, area of cross
section and modulus of elasticity

(¢) WAYA H HAUM, Herd &1 [ 3N FHAF F T [ slenderness ratio, coefficient of

expansion and modulus of elasticity

(d) F1 U, FTY-FE F &7 IR T F1 AU / slenderness ratio, area of cross-
section and modulus of elasticity

7 148
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29. Fm Ry wy fom @, e faftea w20 27
In the following figure, what is the cylindricity specification
o613 AE
T3 p0.08]a=8]

[Ofouos] p—— ’—
| & 6 bos|

224

r—dq

=48
|
[ 1]
] i
|
|
g
—t 1 &0

| B—

50

L gor —— .o B
I 125 =
(a) 0.004 {(b) 0.006
(¢) 0012 (d) 0.08
30, sigEd fiae & fm, o I Rrard o oo T, T A g F o U x AR, @ xR
For conical pivots, the friction torque with uniform wear is x times the friction torque with
uniform pressure, where x is,
(a) 2/3 b 32
(c) 4/3 (d) 34
3. AR wlo, =2 B, TE o = T K IEF AR o, v H TFE IER 2, @ T H
watursficran gft
If wla, = J2 , where @ = frequency of excitation, and @, is the natural frequency of system,
then transmissibility of vibration will be
(@ 1 (b) 0.5
() 2 (d 14
32. @M @ IS0 9000 Fa@en, fww it foama & forg vl w1 wifter et 27
Which of the ISO 9000 series covers clauses for design and development?
(a) ISO 9001 (b) ISO 9002
{¢) IS0 9003 (d) IS0 9004
33, ©H | i Th FAEA AW 4 AR =@ D' F vE aonw O A Fh R) ¢ ven & s
TS Fi 9g e & A I I A Iz frw s 1 e e gaE R (e @ EE o
3 A5z FUT 2 1)
A gas tank is made of a thin cylindrical shell of inner diameter D and thickness L
Hemispherical domes of thicknelas t is welded to the cylindrical shell by means of butt weld.
The allowable internal pressure is (Permissible tensile stress is o and weld efficiency is n)
(a) dotn/D (b) 20tpiD
) doty!D* )  20tylD
5 8 1480
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34.

35.

36.

37.

38.

13.5 kg & 7o ¥ um
@:z‘ﬂﬁgﬁmmg,mﬁmﬂn‘h“;‘hﬁﬁmammgmqm.aasaﬁmmﬁa

N g :
A block of aluminium having masg R 2.7, @ R & T AW (g = 10 m/s?)

submerged into a tank containing o

aluminium as 2.7, the tensijon i . :
(@) 1200 N Hom in the wire will be (g = 10 m/s?)

ﬂnf 135 kg is suspended by a wire and lowered until
of relative density 0.8. Taking the relative density of

e E:]} ?ZONN t"‘: " "
mz«mﬁanuféﬁrerrﬁnﬁamﬁtﬁamt :;T%
.:; ;;peg: 8 EEdfge??:nui : ;ﬁ;rhine indicates Elg}at th;lt%}-;i?; ::mis "1"'5
(¢) F=H / Kaplan (d) sf" %@ / Cross flow

& ser Hh 9 R, @

An adiabatic boundary is one which

(a) F=N FEWRE 87 20 R / allows heat transfer

(b) T FEICE TE B 3 R / prevents heat transfer
(c) FEMH F1 @IS 83 30 R / allows mass transfer
(d) + qEEw Awm i/ prevents work transfer

d
=a* B @t 2
g y=a* B, :
dy

=a*, then == =
y = a*, then
(a) a*loga b) =xloga
€ xa* () alogx

12 fomr v R 2 M e IR A o B F WY 06 926 & @ e smm & fag R m
6 7y feEm 21 #1 @ woF vl &7

The figures given below shows 6 measurements made for a particular dimension of a
component with two different instruments A and B. Which one is the correct statement?

m‘ “:"A *
s : . Average Value 2 = 2 Average Value
i ™ ] c L
® 2 E U True Value
i:g True Value A °
. No. of tricls

No. of trials

INSTRUMENT—A INSTRUMENT-8

(a) I9HW B, I9HW A ® IS F& 2 / InstrumentAB is more accurate than instrument A*
(b) I9FW B, I9& A ¥ &1 @él R / Instrument B is less accurate than instrument Ar

(¢) Jqa B, ITHRU A 4 afts gere 2 / Instrument B is more precise than instrument A
(d) Igr A 3 B, qH1 BHA 9 A 7ard 3 gEE § / Instrument A and B are equally accurate

and precise

9 1480
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39,
5

b2

2
1

L=- I =

Jm#ﬁw%sﬁnﬁmmmwml

[ L]

2 6 2
Find the determinant of the matrix |1 2 1
3 5

(a) 28
(0 14 0

40. e fog oneh F argEw, @ wwe faera s (e sk fog) & mm & l

41.

The dimensions of two mating parts (shaft & hole) according to a basic hole system are

5% / hole : $48%+9™ \':."‘n\
%/ ghaft : §4879%4/-00% \ © <
8 a2 7w R 27 W
What is the allowance in this assembly?
(a) 0.10 mm (b) 0.06 mm
(¢} 0.02mm (d) 0.04 mm

UF &3 #e 1 0 %2 W9 F R W, 0 G F Fiez g0 T 9w g, e e e - e i
fe@mn wn 81 w7 T IR ARCP % fo, dee # w e ey o wiee @

A rigid bracket is fixed to a rigid steel structure by means of four identical bolts without any
preload as shown in figure. For the applied eccentric load P, the maximum direct tensile stress

developed in the bolt is

f’? ! I
7 1
L, é I !
i el le
= o H
PelL.
(B} —[—2—)2 Lf 3 L§ ':b) L;ile
© i @ gt
o+ 2] 1)
10 1480
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42.

43.

44.

45.

&iéb

46.

47.

@mﬁsmwﬁn,ﬂ-________mﬂwﬁmm

A cotter joint is used to connect twWo—u q
rods,
(a) W&-3& / co-axial

(b)  FfirE / perpendicular
(¢) EHHET / parallel

(d) el / convoluted
mmgmr—ﬁum7ﬁnmmHgﬁl'lﬂ=ﬁﬁremqt,iﬂﬂaTMmmHgmtlmmm.
380 mm He %1 Fda zoma freal gftre 2 4

The standard athlapheﬁc pressure is 760 mm Hg. At a specific location, the barometer reads
700 mm Hg. At this place, what does an absolute pressure of 380 mm Hg corresponds to?

(a) 320 mm Hg Y3 / vacuum (b) 380 mm Hg I / vacuum
(¢) 60 mm Hg Y@ / vacuum (d) 1080 mm Hg 9 / gauge
e ) e T T e A W
The most commonly used method of making jewellery is AN T‘ ¢
(a) 5] % / sand casting (b) = et / die casting

() ¥9HH T / centrifugal casting (d) f&m ges / investment casting

T UTH H & I S e e s R
Factor of safety is defined as the ratio of

(a) ifom 7@ d Ff@ 9914 / ultimate stress to working stress
(b) HRRA 9 | ifan q= / working stress to ultimate stress

(c) %A% a9 & Hifm 918 / breaking stress to ultimate stress
(d) 3ifow 9" | 7g3 &1 79 / ultimate stress to breaking stress

=W D 3 32 S d % Yoo & Zaigd $ 92 S (m) & -
Jet ratio (m) of Pelton wheel turbine of dia D and jet dia d is

(@) m=2d/D ) m=DAMd

() m=D/2d (dd m=Dd2

TF HEA whira w@f=E 6w 2

An isothermal process is governed by

(a) Wige &I FI / Boyle's law (b)  ¥efd B 1 / Charle's law

(c) ﬁ—w & ®FA / Gay-Lussac’s law  (d) HEITI'I?[ %1 &I [ Avogadro's law

11 1480
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Gﬂﬂﬂﬁ,éqﬂﬁiﬂmﬂﬂm%mﬁﬁmﬁ]g_gﬂqw%

48, @=L
.@qﬂqﬁmmﬂ'ﬂ'l'@qlmﬁﬂ pe B, A g F wn oftd 27

49.

50.

51.

52.

120 Q U

In a tensile specimen tesh a;tzrgj Bgﬂuge 15 used for measuring the elongation. If the meas

strain is 3000 /¢ vith 2 metallic strain gauge of gauge factor of 2.0, what isuifid
.0, e

change in resistance?

(@) 50X b 600Q

© 0182 (d) 072Q

e g & e I ¥z 1 4 R -

The Moment of Inertia and centroid of the semicircle about the base is

@ #D'1128, 4RI 3x () aD'/64, 2R/3x
(d) aD'/64, 4R/3x

(c) D' 1128, 2R /37

mmmmmﬁmm#mmﬁﬁa@q_
The chuck used for setting up of heavy and irregular shaped work should be

(a) IR Sl G I / four jaw independent chuck

(b) 1 S=E wifd® =% / three jaw universal chuck

(¢ TEhA =% / magnetic chuck
@ &= =%/ drill chuck
mm%maﬁsmaﬂaﬁm 3.5 MPa &t fan s, @i @@ i gadt
ﬁm%lmwmaﬂmmmmﬁmw%?

perature of 303 K is increased from
0.5 to 0.501. What is the

303 K % amwm 1 2T

ggar 0.5 & 7gax 0.501

When the pressure of a given mass of liquid at a tem
a the relative density of liquid increases from

3 MPa to 3.5 MP

average bulk modulus of liquid over the given pressure range
(a) 700 MPa (b) 600 MPa
(¢c) 500 MPa (d) 250MPa
foseht it i wETa wle IEH ) g=F 2|

The impact strength of a material is an index of its
(a) S [ toughness

(b) @ W / tensile strength
(c) @3 %M % H &Hl / capability of being cold worked
(d) F3NA1 / hardness

12 1480
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53 SvEmlRA F A R

54.

55.

56.

The frequency of damped vibration ig
() ngiﬁli!; A % T / equal to naturg] frequency
() g'@ﬁﬁ 3!1113‘[ # % / less than natura] frequency

() STplee G A HF / more than natural frequency
(d) SiFfH AR F T / double the natural frequency

Iz+y?_4x-3y—45=n3ﬁﬁ;ﬁwmaﬁmm_
Find the centre and radius of the circle x* 4 T T T |

(@ %% (2, 4) 3B 5/ Centre (2, 4) and radius 5

(b) F= (4, 8) 3 B=M 65 / Centre (4, 8) and radius 65

© %% (4,8) 3B J45 / Centre (4, 8) and radius 45
@ ¥% (2 4) 3N B=m J65 / Centre (2, 4) and radius V65

vF &1 F W FQ § e oo wug, swe § fae ofy gEE 10 fire 2 3K W F@ = @A
50 firte 81 U MO Snm,sdémzﬂ&qﬁﬂmmmmwﬁmﬂﬁzmmm
Wt e 1 S ) Feigver & e amge-

The standard time allowed for a job is 10 minutes per piece for production and 50 minutes as
setting time. An operator assembles 50 jobs in 8 hours and 20 minutes. This time includes the

time for setting his machine. Calculate the operator's efficiency
(a) 100 % (b) 110 %
() 90.9% (d) 90%

IR @ ug A 3N B ¥ wlienT F A FA: 71000 N/mm? 31% 207000 N/mm? ®1 afe 7= sy
ﬁ,mﬁqmmﬁ:ﬁﬂmmﬁmwmaﬁmmm#m,mm%m

wiiftga e are, @ Frefeies FeEi § @ F9-w w8 27

If the modulus of elasticity of two metals A and B are 71000 N/mm? and 207000 N/mm?
respectively. If tensile specimens having same cross section and length from above materials
are tested under same load within their elastic limit, which of the given statements is correct?

(a) o A T F GEfie, uig B T & et ¥ Jifo 2 / Elongation of metalM specimen is
more than the elongation of metal Blepecimen

(b) wig BT = refishwr, uTg A TR % deffem @ A 2 / Elongation of metalM specimen is
more than the elongation of metal Alspecimen

() ui|g AT, agB T ¥ HAF 7 @E 2 / Tensile stress in metal A specimen is more

‘than the tensile stress in metal B specimen
(d) uqB T3 §, uig A T # a1fts =91 ¢&9 & / Tensile stress in metal B specimen is more

than the tensile stress in metal A specimen

13 1480
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57.

58.

59.

ﬁqﬁamﬁimm:{%ﬁ-‘mwmiﬂﬂ

gure what will be the tolerance for the dimension X

®f i

In the following fi

IS
=
1.
1 |
Q
B :U:-‘;} o “‘::@
@) Tﬂ"’”'“ {’b] 70—0.2!~OH
© 70080 d) 7070108

fisft g 1 win, o 7 10,000 FhrEAl R S THE A FEG Re. 100 &1 @ w1 % Ry wereh o
= £ £ 10% 2 it wweT | 15% R v s (5i0) ¥ 39 2w Rs. 1,250 ¥ sEAn g

) o F

The demand for an item is 10,000 units per annum and the unit cost is Rs. 100, For a unit,
inventory interest cost is 10% and storage cost is 15%. Set up cost is Rs. 1,250 per order.

Calculate the optimal order quantity. o0
1
(a) 2000 (by 1000 -;—6;“"'

(c) 800 (dy 1250

T W Wie Fo7d 3, I S Al A WG Sl W, il 1 F W A ‘n' R, A e afn waE
we grft

In a multiple plate clutch, if n is the total number of plates both on the driving and driven
members, the number of active friction surfaces will be

(a) 2n . B n-1
() n (d) 2n-1)

T 0.4 Nimm % 537 % &1 @ 1 kg g2mm ) e 0 2, 76 Woneh &1 ik @t i &

Critical damping coefficient of a system with a mass of 1 kg attached to a spring with stiffness
of 0.4 N/mm is

?"F
(a) 40 (b) 30
(c) 60 (d) 3 ¥ F1E 3F / none of these
14 1480
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6l.

62.

63.

64.

65.

66.

Frefetn 3 & - s,
(m)ﬁﬂﬂiﬁmmn@ﬂaﬁcncmmﬁ

Which of the followin
CNC machine too|?

(a) G20
() G90 (b) @21

(d) Gz25
e UTg — 1 fionur 3
Bell metal is an alloy of

for= ol Al / 2 co
((a)) / zine and Copper (b) = 3 ald / tin and
: . ala /b
e sk ata / nickel and copper (d) < afv o fi;:I;nd :;eper r

vl () 1 S geler g 2 -

Water hammer in pipelines take place when:
(a) T 9e I= A i -
neldor ¥ ¥ W R/ fluid is fowing with high velocity
- .
SEE W @A / fluid is flowing with high pressure

€ code wil]
Ehangc "
B &
P Ciﬁﬁd mput values in metric units {mi]]imetres} in

) T o & :
( T F, Ao MR- F A R / fluid flowing is brought to rest by

gradually closing a valve

d) & H! ;
(d) TG % TEE B, 67 g T, = 491/ fluid flowing is suddenly brought to rest

by closing a valve

Freedt Sl o g 3R ameaT ¥ S| % FA A = Fw 47
The sum of internal energy and produet of pressure and volume is known as
(a) wHM fean T %™ / work done (b) 3IhH HM / entropy

(¢) Ul SN / enthalpy (d C.OP

Tz v fraw, I A s naiia -
The angle on which the strength of the tool depends is

(a) Y& @ (9f40) / rake angle (b)  FRA F F / cutting angle
(c) Tr=mft Fv / clearance angle (d) U/ lip angle
forth ag & 9@ vs RrenTT aF & iaTa 3T a8 3 8

The area under the Force vs Displacement curve of an object gives the

(a) 9H ¥ wiferat= / acceleration of the object ¢
?"’ -

(b) TH ¥ a7 / velocity of the object
(c) & gl firr T @™ / work done by the object

(d) I9F 0 8 %12 T8 / none of the above
15
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67.

69.

70.

71.

frerforRaa wfta &1 Fie 3 faf, gar @R -

Find the order and degree of the following equation
1 2
[dBJ +3 it_f 0

d_t sd.‘,? =
(a) 4.2 b 24
dy 2,1

() 1,2
W%wm%mgm form wrifer 4§ areft 27
The error caused by poor calibration of the instrument is classified under

(b) UEE R % A%A / Systematic error

(a) dgfeo® 3R % @& / Random error
(¢) e 3f2 % agd / lllegitimate error (d) ¥R 3R ¥ 77a / Noise error

mﬂgﬁammaﬂﬁaﬁﬂmmfﬁmﬂﬁuhwﬂmé-
The amount of energy absorbed by a flywheel is determined from the

(a) UA-F=% S 1t / torque-crank angle diagram
(b) - Hv ARG / acceleration-crank angle diagram

(c) wii-aiafs MG / speed-space diagram
(d) - 3G / speed-energy diagram
szﬁm@ﬁaﬁmm150rpmqtthmm%w&nﬁrvﬂamo.1i,ﬂmmnﬁrﬁrﬁzﬁ

A3-7fd 3-
A milling cutter having 8 teeth is rotating at 150 rpm. If the feed per tooth is 0.1, the table

.

speed in mm per minute 18

(b)y 187

(a) 120
(d) 70

(¢ 125
w T A AR F2 S % Fw w@ AW ¢ 3N S B D wHaE W g I R qfn I Rl
A @ '’ F A 2, A 98 I fwgert o @ (o @ T e R) A YR

An object is kept on a horizontal rigid plate and the plate is tilted in the vertical plane so that
when the plate makes an angle ‘¢’ with the horizontal, the object starts to slide (coefficient of

friction is ‘p’). Then ‘¢’ is.

@ 4 (b) tanu
-1
() tan 4 B d 1iu
16 1480
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72

73.

4.

75.

i @ mmﬁl.ﬁﬂﬁ-mwm!

which of the following symbols indicqte circular run-out?
-out?

» O o O

(c) / (d)

B ErE Ok VT S ——— P Lk L L R
yogren, 3, AR, W9 8 g A guiy w A

In a flow process chart, used in method study for improving productivity which symbol
combinations are correctly represented for operation, storage, delay, transport, inspection

@O0 AD= o D O=>D
o=>[) A O © 0 DA =

wm@mmﬁﬁ,wwaﬂmwmmﬁ@mm@hﬂmﬁ
s R v 21 38 R A AR A 25 mm @ wefifes R o @, oW AW 10 Mpa & 39@ Ht
SR T 1 AR [EE & A 20 mm 2 7 & A 3w (T1=3.14) 70 &7

In a hydraulic valve, the plunger is assembled with an initial compression of 340 N using a
helical compression spring. The apring is compressed further by 256 mm when a pressure of
10 MPa is applied. If the diameter of plunger is 90 mm what is the spring stiffness? (I1=3.14)

(a) 125.6 N/mm (b) 112 N/mm
(¢) 139.2 N/mm (d) 13.6 N'mm
& B wa-anen ¢, R

A serew will be self-locking if

(a) = I IO, FUEH 07 § 51 71 / the coefficient of friction is lesser than the helix angle

(b) wdor T, FvEch HIm & FA & / the friction angle is less than the helix angle
(o) =m0 Ui, Fee F & AfF A T B / the coefficient of friction is greater than or

equal to helix angle
(d) =T ] TN, FIS o ¥ =l & @21 W 7O R / the coefficient is friction is greater than

or equal to tangent of the helix angle

17 1480
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76.

7.

78.

79.

Pt 7 2 § o & Ay v 2

s & garl T A, i
follower has constant acceleration when it moves with

In a cam follower motion, the

(a) @gwe At/ polynomial motion
(b) wREeas 9/ parabolic motion
() ®& g7 = / simple harmonic motion

(d) =@ e/ cycloidal motion

ateg wefas # C.0.P
Domestic refrigerator has C.O.P
(b) 1 & %9 B 8 / less than 1

(a) | & sifts g & / more than 1
© 1 @ wom A &/ equal to 1 (d) I A @ FH TE / none of the above
a5 ¥ Ea omitea &7 4 @

o F9 & @ Vs 75
the acceleration Vs time curve of a particle gives

The shaded area under

(a) fRufa & qftd / the change in position

() 3m ¥ aftada / the change in velocity
(c) @ 1 aftadd / the change in acceleration

(@) o gt # qfEcd / the change in acceleration rate

mmﬂﬁaﬂamtm%ﬂﬁﬂmmﬁéﬂ%mmmmmﬂiﬁ%
The variation of bending moment along the length in cantilever beam with uniformly
distributed load is in nature

(a) TTe / constant
(c) WEwt® / parabolic

(b) @Y / linear
(d) g41a / cubic

FA F T9H W Y AR # frea g @
Crystal structure of pure iron at room temp is
(@) FCC ® BCC
H
(¢ HCP (d) g=hia / Tetragonal

18 1480
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